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Find the size of sides of the following AABC.

Prove the cosine theorem when A < 90", B < 90°
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. . . . . . Find the angles of the following triangle.
Complete the table of trigonometric ratios using the following diagram.
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Write the following cosine theorem.

bi= c?+ a? —2 cacos B
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Find the size of sides of the following AABC.

?ﬁJ%G) c=7,a=15,B=60 Ot %, b%%@&bio
b2 = c¢’+a’? —2 cacos B
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Find the angles of the following triangle.
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cosA=——, sinA= CH: A&c B
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Prove the cosine theorem when A < 90", B < 90°
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Complete the table of trigonometric ratios using the following diagram.
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Find the size of sides of the following AABC.
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Bl a=2c¢=2vV3 ,B=30 OLx,bumRkDL,
b= ¢?’+ a? —2 cacos B
(2v3 )24 27—2 x 2v3 x 2 X V3
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Find the angles of the following triangle.
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Write the following cosine theorem.

c’—=a? + b2 —2 a b cosC

e —T—vav

a? = b
b? = \c—>a /
k-1 Sh o v ~k B

2. RO=AE DL D A fz?k&bot
Find the size of sides of the following AABC.

v

b
BIE® a=3,b=v8 ,C=135 Ot &, c RO L,
¢ =a’+ b’ —2 abcos C (@135
=32+ (V¥ )*—2 x 3 XV?'X(~ —124)

2
=94+8&+72=29
c >0 &Y c= V29
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MED b=2,c=v2 ,A =135 O Lt %, a%jwbot
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BE® ¢c=8,a="17,cos B=— T@k%,
b %KWk,
b? = c¢’+ a? —2 cacos B
=70 X § X T X (~%)
=64+ 49+ 56=769

b >0 v b= V/t9 = /3
b EN
MEO b:5,c:3,cosA:T@<‘:€<,
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x vy i
WRORFEHEHEZEZ IV o  Write the following cosine theorem.

cos C = o + b° — o
o 2 a b

cos A =

cos B =

Find the angles of the following triangle.

Wi a=2.0=8B.c =3O L%, ChKD L,

a? + b — ¢

cos C = " a b
AR VAN Sl (/K &
2 x2 x/3
_4+3-73 =6 3
13 44/3 2
cosC:~J&ct") C = 750
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Prove the cosine theorem when A < 90", B < 90° Find the size of sides of the following AABC.
Th 7}_]4\/\\/1/ TL\)‘;/U oy nn En . b
ACH B %l ABIC R CH 5] <, C Bl a=20b=v3 ,C=150 D& &, ¢ ZRw L,
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Complete the table of trigonometric ratios using the following diagram Find the angles of the following triangle.
° ° ° ° ° e En b
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| € T @+ b=t 3242 (Vi3 )?
cos €= 2ab 2 %3 x4
80 | 0 150° 0 a
—-10 1 X*Zj/g o V3 9+76—73 72 N /
24 Y a 2
yp 2 -7, C =60
SRy Y h BN b
1 HE a=10,b=6,c=80D&¢ x, AZKkdD L,
120° 60 90°
0 0 30° 45 60 90’
cos 0
0 90’ 120° 135 150 180
\/_
cos 0 0 — 2 — 22 —7/




L Fa T b v

%ﬂ% | AR o R3

& )

L AT

/k@ﬁa%/iiﬁ%iié 7RI,

Write the following cosine theorem.

al=b? + ¢? —2 b ¢ cosA

e —T—vav

x vy i
WRORFEHEHEZEZ IV o  Write the following cosine theorem.

b2 = Zb\
¢ = \c—>a/
oF Sh ol ~h bl
RO =ATE D D E %?k&bot
Find the size of sides of the following AABC.
nn En . bt
O a=3,b=v2 ,C=135 DL, c 2RO L,

¢ =a’+ b2 —2 abcos C (@135
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Find the angles of the following triangle.

b

MED b=2,c=vV3 ,A =150 ® & %, a%jwbot

Wi a=2.b=3.c=VTDLx, Chkwl,

a’ + b’ —

cos C = " a b
22437 — (7 )
2 X2 %3
4+9—7 6
a 72 72
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FlIED c¢c=5

a=3,cos B=— T@k%,
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b =c¢’+ a* —2 cacos B

=5243"  —2 x5 x3 x(~%)
=26+ 9+75=49
b>0 Ly b= ViIT = 7
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Find trigonometric ratios using right triangles.

P bl e
151 R R
@D cos 30° @D cos 60°
2 /
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2. A<90 ,B< 90 »Lx, REETHEZI AE L,
Prove the cosine theorem when A < 90", B < 90°

Th 2~ A L A (03
A O e %0 ABICER CH % 4] <, C
AACH 12 5 C
COSA=—", s1nA:C—H1 A&c B
AH= cu= D
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2o a—

Find the size of sides of the following AABC.

{51 R a=2b=VvV2 ,C=45 DL X,
c’= a’+ b —2 abcos C
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c &R X,
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Find the angles of the following triangle.
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